
 
“Cooter Brown” RZR Cargo Cover 

P/N: EMP-10724 
Fits: RZR and RZR-S (will not fit RZR-4) 

Includes: 
1. (1) Cargo Cover 
2. (1) Cargo Door 
3. (4) Tie Down Plungers (with eyebolt) 
4. (2) Southco F7-510 Latch 
5. (2) Soutcho F7-517 Catch 
6. (13) 1” Diameter Plugs (CCF-1-1/8”-14-20) 
7. (1) Rear Bracket (10724-02) 
8. (1) 1/8” x 1” x 25ft Roll of Gasket 
9. (6) 10-24 x 5/8” Pan Head Screws 
10. (12) 1/4 x 1” Black Flange HD Bolts 
11. (10) 1/4” Nylon Nuts 
12. (4) Tie-Down Brackets (10724-91) 
 
Installation: 
If you have an RZR-S you will have to remove the rear 
cage before installation. 
1. Using 10-24 screws attach the latches to the lid and cargo 

cover (see picture). 
2. Install (4) Tie Down Plungers with the eyebolts into the four 

outer holes.  These will go into the holes in the cargo area of 
your RZR and be tightened by turning after installation.  You 
will have to take them apart and the washers will go on top of 
the cover (see picture). 

3. Stick the gasket around the outer perimeter of the cargo box.  
They you the remaining gasket around the inside of the cargo 
lid. 

4. Attach the lid to the cargo cover using the 1/4 bolts and nuts. 
5. Attach the rear bracket the two holes in the rear of the cargo 

cover using the 1/4” bolts (see picture). 
6. Attach the Tie down brackets using the remaining 1/4” bolts 

and nuts (see picture). 
7. Now, you can install on your RZR.  Tighten the plungers by 

turning the eyebolts. 
8. Insert the plugs into the holes in the cargo area to seal them. 


